ECON 201

MIDTERM EXAM

FALL 1999

NAME: _________________________________________________

1. Draw a production possibilities frontier for two goods: interstate highways and designer clothing. (29 points)




a. Label the point representing the maximum amount of highways that can be produced as Point A.

b. Label the point representing the maximum amount of clothing that can be produced as Point B. 

c. Label as Point C an inefficient output combination. What does "inefficient" mean?

Inefficient means that the economy is producing less than it could from the resources that it has available.

d. Label as Point D an output combination that is clearly better than Point C. Explain why D is "better" than C. (What do we mean by "better"?)

Point D is clearly better than point C if more of both goods is produced.

e. Does the opportunity cost of highways increase or decrease as more highways are produced? Why? (Economics, please, not geometry!) Illustrate on your graph.

The opportunity cost of highways increases as more highways are produced.  When the economy is producing mainly highways, even resources best suited for clothing production are being used to build highways.  Each highway the economy gives up yields a significant amount of clothing.

2. On February 1, Mattel, Inc., the world's leading toymaker (including Barbie dolls) predicted that its sales would increase this year due to lower production costs and the fact that 1999 is the 40th anniversary of Barbie dolls. Explain in detail how these two events should affect the equilibrium price and quantity of Barbie dolls sold in toy stores.  Be sure to use a graph to illustrate your answer. (25 points)
Lower production costs are reflected in the supply curve.  Lower costs shift the supply curve right.  The 40th anniversary of the Barbie doll would most likely increase demand as people viewed this as a special doll.  The demand curve would shift to the right.  The combination of these two events would increase the quantity of Barbie dolls sold in the market.  However, the resulting price of Barbies is unclear.  If the demand shift were larger than the supply shift, then the price would rise.  On the other hand, if the supply shift were larger than the demand shift, then the price would fall.
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3. Suppose you are a manager of a restaurant that serves an average of 400 meals per day at an average price per meal of $20.  On the basis of a survey, you’ve determined that reducing the price of an average meal to $18 would increase the quantity demanded to 450 per day. (30 points)
a. Compute the price elasticity of demand.

The price elasticity of demand = 
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b. Are your restaurant meals elastically or inelastically demanded?

Restaurant meals are elastically demanded since the absolute value of the elasticity is greater than one.

c. If the owner of the restaurant wants to increase revenue, would you advise her to increase or decrease prices, based on your analysis of the survey data?  Explain. 

The owner should decrease prices, since decreasing prices leads to increased revenue for elastically demanded goods.  The increase in quantity demanded more than offsets the lower price you are charging.  This can also be seen by looking at the numbers given in the problem.  The revenue at $20 is $8000, while the revenue at $18 is $8100.

d. The owner also wants to know whether consumers consider the meals to be normal, luxury or inferior goods.  What questions should you include in your next survey in order to be able to answer her question?  Explain.


You would want to know the income elasticity of demand.  You might ask questions like:  What is your income?  How much do you spend at the restaurant per month?  How would that amount change if your income doubled?  How would that amount change if your income was cut in half?

4. In 1992, the federal government placed a tax of 10 percent on goods like luxury automobiles and yachts.  The boat-manufacturing industry had huge declines in orders for boats and laid off many workers, whereas the reduction in the auto industry was much milder. (The tax on yachts was subsequently removed.)  Explain this situation using two supply and demand diagrams.  Compare the elasticity of demand for luxury autos with that for yachts based on the experience with the luxury tax.











The demand for yachts is obviously more elastic than the demand for autos.  This may be because yachts have more substitutes (other ways to spend leisure time, such as a cruise or an expensive vacation) than do automobiles.  It may be because autos are more of a necessity than are yachts.  You can’t get to work without a car, while you can enjoy your leisure time without a yacht.  It may also be because yachts are more costly, even than a luxury car.  

Because the demand for yachts is so elastic, it has a flatter demand curve than the demand curve for cars.  The same percentage increase in price will lead to a larger decrease in demand for yachts than it will for cars, as seen on the demand curves above.

5. Consider the market for apartments in a town.  The price for apartments is the rent.

a. Sketch the demand curve and the supply curve for apartments in the short run.  
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In the short run, the supply of apartments is fixed, since new apartments cannot be built quickly.

b. Label the equilibrium rent and explain what the term equilibrium means.

The equilibrium rent is labeled in the graph above.  The term equilibrium refers to the point at which the quantity supplied equals the quantity demanded.  It is a ‘resting place’ for the economy in the sense that there is pressure neither for the price to rise nor for the price to fall.

c. If the town council imposes a binding rent control below the equilibrium price, what happens to the quantity supplied and quantity demanded?  How does the total amount of rent paid change?

The quantity supplied would stay the same, but the quantity demanded would rise, creating a shortage.  The total amount of rent paid would fall, as price fell, with the same quantity traded.

d. Economists frequently argue against rent control because of the incentives it gives to landlords.  Explain why this interference in the market may provide bad incentives.

There are several bad incentives that could arise out of this situation.  First, new potential landlords may choose not to build new apartment buildings with the low rental price.  Second, existing landlords may not keep up their buildings, eventually leading the supply to shrink.  Third, this could lead to a black market in which tenants pay landlords some money ‘under the table’ in order to keep maintenance of the buildings at an acceptable level.

e. Using the concepts of consumer and producer surplus, explain why economists say the rent control leads to inefficient outcomes as compared to the free market solution.

Rent control is inefficient because is lowers total surplus, which is defined as producer plus consumer surplus, in the long run (when supply is responsive to price).  Consumer surplus may increase or may decrease, since the price drops, but the quantity bought will fall.  Producer surplus will certainly fall, since both price and quantity fall.  The free market solution is the one which maximizes total surplus in the economy.

6. Consider the market for college economics textbooks.  For each of the events listed here, identify which of the determinants of demand or supply are affected.  Indicate whether supply or demand (or both or neither) increase or decrease.  Using a graph, show and explain the effect of the event on the price of textbooks and on the quantity sold.

a. College tuition costs rise, and fewer students attend college.

Since college attendance and books are complements, an increase in the price of college will lower the demand for textbooks.  As the demand curve shifts left, price and quantity both decrease. 
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b. As environmental regulation become more stringent, the cost of paper rises.

Since paper is an input into book production, the supply of books falls.  As the supply curve shifts left, the price rises and quantity falls.
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c. On-line textbooks are becoming a popular, low-cost alternative to traditional books.

 Since college textbooks and on-line books are substitutes, the demand for traditional books falls as the price of a substitute falls.  As demand shifts left, price and quantity fall.


[image: image6.wmf]D1

E1

E

Q

Q

P

Q

D

Q

S

Q


highways





clothing





A





D





C





B





P





Q





D





Automobiles





S





Yachts





S





Q





P





D





Original price





Original price





Price with tax





Price with tax








_1001410419.unknown

_1001422831.doc


Q



Q







P



Q







D



Q







S



Q







E















Equilibrium rent












_999338475.doc


Q



Q







P



Q







D



Q







S



Q







E







D1











E1












_1001410378.doc


Q



Q







P



Q







D



Q







S



Q







E







D1







S1



Q







E1












_999338363.doc


Q



Q







P



Q







D



Q







S



Q







E







S1











E1












